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Topic:- English

1)

Question Stimulus :-

Fill in the blank with the correct option.

The cakes ____ ready soon. They’ve been in the oven for an hour.
® can be
* must be
* mustn’t be
* need be
Correct Answer :-must be
2)
Question Stimulus :-

Fill in the blank with the correct option.

Children look after their parents in old age.

® can

* could

¢ ought to

* ought not to
Correct Answer :-ought to
3)
Question Stimulus :-

Fill in the blank with the correct option.

We locked the gate. Then the dog wouldn’t have got out.

e can have

()



* need not have

* ought to have

* could not have
Correct Answer :-ought to have
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

The President called on the wealthy countries financial aid after the floods

destroyed much of the country's agriculture.

.by

* for
Correct Answer :-for
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

The crowd backed ___ when the man pulled a knife.
* towards
* with
* away
e forward
Correct Answer :-away
6)
Question Stimulus :-

Fill in the blank with the correct preposition.

©)



She backed out of the agreement___ the last minute.
e at
* from
e for
® in
Correct Answer :-at
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

He sat me discuss the problem.

e beside, to

* besides, to

e with, for

* behind, to
Correct Answer :-beside, to
8)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* Aidle brain
* js the
e devil's workshop.
®* No Error
Correct Answer :-A idle brain

9)

Question Stimulus :-
4)



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* Nile is longer than

* any other

* river in the world.

®* No Error
Correct Answer :-Nile is longer than
10)
Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e He graduated

* with an second-class honors

e degree in physics.

* No Error
Correct Answer :-with an second-class honors
11)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* Have there ever

* been a war

* in the United States?
®* No Error

Correct Answer :-Have there ever

12)
(5)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Democratization have brought workers

* the right to strike

* and join a trade union.

* No Error
Correct Answer :-Democratization have brought workers
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ Unless Mohan takes
e proper care of his health,
e he will not recover.

e No Error
Correct Answer :-No Error
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ The bird would have
* died if you
e had caught it.

¢ No Error
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Correct Answer :-No Error

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e My Parents and relatives will come to pick you
® as soon as
¢ you will reach Mumbai airport.
* No Error
Correct Answer :-you will reach Mumbai airport.
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Nelson said, "I was playing cricket”.

* Nelson said that he had been playing cricket.

¢ Nelson said that he has been playing cricket.

®* Nelson said that he have been playing cricket.

®* Nelson said that he was playing cricket.
Correct Answer :-Nelson said that he had been playing cricket.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to his students, "Did you not like my story yesterday?”
¢ The teacher asked his students if they did not like his story yesterday.

* The teacher asked his students if they did not like his story the day before.
(7)



* The teacher asked his students if they had not liked his story the day before.

* The teacher asked his students if they have not liked his story the day before.

Correct Answer :-The teacher asked his students if they had not liked his story the
day before.

18)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Peter said “Alas! I have broken my brother’s watch”.

* He exclaimed sorrowfully that he has broken his brother’s watch.

* He exclaimed sorrowfully that he have broken his brother’s watch.

* He exclaimed sorrowfully that he had broken his brother’s watch.

* He exclaimed sorrowfully that he had broke his brother’s watch.
Correct Answer :-He exclaimed sorrowfully that he had broken his brother’s watch.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Are stories written by you?

* Do you write stories?

* Did you write stories?

* Have you written stories?

* Are stories being written by you?
Correct Answer :-Do you write stories?
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

(8)



A cup of coffee was brought to me by her.

e She is bringing me a cup of coffee.

* She brings me a cup of coffee.

® She brought me a cup of coffee.

e She was bringing me a cup of coffee.
Correct Answer :-She brought me a cup of coffee.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Grammar is taught to us by the teacher.
®* The teacher teaches us grammar.
®* The teacher is teaching us grammar.
®* The teacher has taught us grammar.
* The teacher taught us grammar.
Correct Answer :-The teacher teaches us grammar.
22)
Question Stimulus :-

Fill in the blank with the correct option.

We've been having problems with the new computer.
* a little
o little
® the little
* afew
Correct Answer :-a few
23)

©)



Question Stimulus :-
Fill in the blank with the correct option.
Could you please pour milk in my cup?
* few
e afew
* little
* a little
Correct Answer :-a little
24)
Question Stimulus :-

Fill in the blank with the correct option.

The government has done _____ or nothing to help the poorest people in this country.
o little
* a little
* the little
* few
Correct Answer :-little

25)
Question Stimulus :-
Fill in the blank with the correct option.

We have money, so we cannot pay for the farewell party.
o few
* the little
* a little

o little
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Correct Answer :-little

26)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

What does the word ‘slaughter’ mean?
® Victory
e Return
e Killing
* Unity
Correct Answer :-Killing

27)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.
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As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

What would be the most appropriate title of the passage?
®* The various forms of music and dance.
* The outline of literature.
® History of civilization.
* None of the above.

Correct Answer :-The outline of literature.

28)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

Before the invention of writing, in what form literature existed?

e In stories and legends
(12)



e In Dancing and singing
e Inyells and prayers

* None of the above

Correct Answer :-In Dancing and singing

29)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

What will be the synonym of the word ‘utilitarian’?
®* Useless
e Useful
e Harmful
®* None of the above

Correct Answer :-Useful

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the following questions.

(13)



The history of literature really began long before man learnt to write. Dancing was the
earliest of the arts. Man danced for joy round his primitive camp fire after the defeat
and slaughter of his enemy. He yelled and shouted as he danced and gradually the yells
and shouts became coherent and caught the measure of the dance and thus the first
war song was sung. As the idea of God developed prayers were framed. The song and
prayer became traditional and were repeated from one generation to another, each
generation adding something of its own.

As man slowly grew more civilised he was compelled to invent some method of writing
by three urgent necessities. Then were certain things that it was dangerous to forget
and which, therefore, had to be recorded. It was often necessary to communicate with
persons who were some distance away and it was necessary to protect one’s property
by making tools cattle and so on, in some distinctive manner. So man taught himself to
write and having learned to write purely for utilitarian reasons he used this new
method for preserving his war songs and his prayers. Of course, among these ancient
people, there were only a very few individual who learned to write, and only a few
could read what was written.

What led to the invention of writing by man?
®* The need to record and communicate.
* The need to rejoice
¢ The desire to write more war songs

* None of the above

Correct Answer :-The need to record and communicate.

Topic:- Hindi
1)

Question Stimulus :-
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o T fHrers

o Sileq & forg warm s=rn

o f:xrew fRuam

* RISHIRT B G- BIAT
Correct Answer :-Siiae & g wam s=rT
2)

Question Stimulus :-

Eﬁa@ﬁw@ww&ﬁﬁﬁﬁgﬁﬁuﬁﬁﬁﬁwmm

1t 8 g, g Tty a% Ugaq &1 U 1Y 31 89 Sl ! dpad Rifed s91 & 3534
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g fRienm & & g1+ 82

o T P T T T A4 B

* IR Gl

o T A PR T
Correct Answer -3 § $1d B § =1 A 81
3)

Question Stimulus :-

Eﬁ@amﬁm@ﬁwmﬁ%&nﬁwﬁwwﬁwmmm
|
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v o forw Seza 9 fan & ot 32

o i U FA & R

o I TFIRG T4 F g

o Rifd@ ¥ ¥ R

o SffeT B W& 991 & Ry
Correct Answer :-Siia" & 9&@ 91 & fag
4)

Question Stimulus :-

?ﬁgﬁ@amﬁmﬁwqﬁmﬁﬁ&@aﬁmmﬁwmmm

fRram wer T8 8, aﬁﬁmwwu@ﬁwwmwélsﬁmﬁmﬁrﬁamﬁ%m
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T 3t Tt Iae R F A1 Il 8-
o Tl & Riféra
o TS BT faPpTd &
o3RI o Rifaa s
o TSl B Riféra s
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Correct Answer :-ui & Rféra a1

5)
Question Stimulus :-

ﬁﬁgﬁr@amﬁmwmﬁ%&nﬁa@ﬁmuﬁﬁwmmw

Rrem wrem TS R, aﬁgmwwu@ﬁmwwmélwaﬁﬁﬁaﬁﬁﬁﬁ%ﬁaﬁ%m
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W, foAT 59 91d &t whern A ok ¢@ % ue arwag # Suged € Syt =gl |

T ST FRAET- TaRIT W T HA1 A1RT?
* AfER
* gAfieH
* J3aTd
o T A PIE T
Correct Answer :-JAfdar
6)

Question Stimulus :-

Fafafaa S @1 aFyde Yeat Sud A Gl T agfawddt uxal ¥ Ot fawen 1 9a+ H31

¥ Ufa § 99T, 3 9Hs IHT B
OH W=l gHaT F g 9§

TR SF B & S g9 9
TOH WG TdT & 9F 9§,
Rrrd sa 9% R Y@ gIedt wad
AT Pi-oiia 49 9 59 fa=md|
g9 ST S, 9w € T
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THYT P YITgar e 8-

o gull

o gur

.

. T
Correct Answer -7l
7)

Question Stimulus :-

fFafafea s @1 arYde Yeet Sud A i3l T agfawdd u=Al ¥ 98t fasea &1 99+ H30

¥ Tafae @ I, o U 9Pl §l
0 g 99T & g1 a1 €,

39U o9 B &HaT & IF 91 §,

9 9T 9HAT & gF a9 §,

R 3T 9% R Y& goed o
HFaAT Bi-oita 99 9§ 59 fa=my|

g o S, g € T

B3 =t & 7 I & 1Y Fgar @ 2

o ¥l dF & R

o YA TN & forw

* HHAT, HHAT R &FdT 91 ¥ g

e HIdl & M 91 & forg
Correct Answer :-3#dl, HHdT 3f¥ &HdT 99 & forw
8)

Question Stimulus :-
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T ygia-t @ agen, o IHY Pl
=99 T HAT & oM a1 T,

THY O S &HA F T I g,
U9H A9 96T S g a1 €

R e 9% R Y@ gest wad
ATl BI-sia- 99 9 59 G=mg|
T ST S, o € urd

JE8 B’ e w1 T 82

* AT B

® QHadl Bi

e HHAT B

* Y P
Correct Answer :-HHadr o
9)

Question Stimulus :-

Fafafea s #1 aFYde Yeat Sud A Gl T agfaww uxAl ¥ Ogt fawen 1 99+ S0

¥ wafa § 9T, o/ WUl 9l B
90 TE IHAT $ g1 91 €,

T O P & S gH I §,
SHH AT AU & gF 1 §,

R sa % v y@ gedt wad
HHTaT Si-sia- 99 9 g9 =)

9 SiT S, du g ur 9



f=e w9 v g
* 9 Yriwell WA Wewere
* §q HMI 49 P
* Wq W AHGAT Bt YTaHT TS gRit
* W9 Rl Id AT
Correct Answer :-5[d H1Fd 49 S0

10)

Question Stimulus :-

Fafifaa sroaw # aFyde ygat Su® AR el T sgfawad uwAl # Odt fawen &1 997 H31

T Ui § 9T, o IU 9Pl §
0 =i 99T & g1 a1 €,

T S P &HAT S T 99§,
TOH W HUGT % g 99 §,
Rrrd Sa | R 4@ et vad
HaAT Bi-siia 49 d 59 o=l

T ST S, a9 g U

B A aTGYT B FIT PeDHT TPRI 2-
o AR
o IAUNfaAT
o T
* AT
Correct Answer :-Iayfa-t

11)

Question Stimulus :-
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HHUS PT UAIFar GYg SHTl-
* TUdpol, TS, Il
* 3igel, wiw, fewiy
o Udhel, MM, 55
o Udpol, Wie, AR
Correct Answer :-U%d, T36, IMelig

12)

Question Stimulus :-

TR & T PH-DFE § ?

o ITxg-fAdy

* NG, SATPHIEH, STHRI

* ueepd, ifafd

o Ta, iy ok dgad ar
Correct Answer :-3g=g-fada
13)

Question Stimulus :-

Frafafed § 9 serdiiuEe ¥HN 31 TP IgeRY HIH-91 § 2
o -G
* &
o fgmR
* RI&
Correct Answer -1

14)

Question Stimulus :-
 fawenl & faaw &1 w99 o gU Raa = &) gdf sk

"R I W B SR e, aft, wqor oft ot Frfor off ~
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o Jifeuet

® 3[ogad

* 3UHC

o e
Correct Answer :-3/&ad
15)

Question Stimulus :-

wiq fbeil B Srctie URIAT & Y DI o1d Tgd Tel-UGIhR 31yl WHHMT BT Feera PIb Hel WY
TElverrerrrnnas SAAPR BT Bl

Correct Answer :-3ifazaifat

16)

Question Stimulus :-

e dfdmal & F-a1 SR 82

¢ W AfE AR Ay, T o™ afg Fel
et Hefl €t o de, S B garal

* 3FTY
* FUD
o IaET
o IIfa
Correct Answer :-3=iifa

17)

Question Stimulus :-
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g iRl d - S5 8 ?
BRI BIH! U7 &, BIAA BIH! 7|
WS qE G B, ST SO B a4

* ARSI

o Jerell

o die

o ghiifaemr
Correct Answer :-3igl
18)

Question Stimulus :-

.................... o F TP WU § 16 TEN gkt &1 98 THAIRS ©¢ g1 vyH 3R fgdia woi & g& g9 g

o ITEl
Correct Answer :-3urs

19)

Question Stimulus :-

g dfeaat & s=-a1 9 82

el daet 6t Hiedn

& Al yTa fogR ga o a1 o o Al
qwdl ¢g wfAfafe 8 o< wifs ®fe emd
UTd Sod AR A1d Aedis HIE ST Wi |

® IMd I
® HTU[ I

* IR I
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® dicdy ¥
Correct Answer :-aicded 39

20)

Question Stimulus :-

° ﬁ'a:a'
o 3fa
Correct Answer :-S[&m

21)

Question Stimulus :-

qF® P10 F b A 1 82
* IR
e
. @
°* U
Correct Answer :-3
22)
Question Stimulus :-
‘PR HETHTA P Il 8-
* gadieN
* TRV fHadl
o ufsa giiver yme fay
o T A FIE T
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Correct Answer :-4f&q giiver ywmg fary
23)
Question Stimulus :-
s AT BT TI Hifore-
* 0T ST SUANT A 3
* ST FST IUTNT 3R’ T
o fRifgan @ 7
o T A B T
Correct Answer :-39 & I3 gl
24)

Question Stimulus :-

- fafea 6 aroxi=n § & wyw g sifaw Fif¥a 7, A9 @1 Sfra wa & sgafya Fifvm)
(1)- Mard w1 AT 8 &
(9)- I TS € I% o1 Il &
(R)- i 9ga 814 8 feg ITH &
()~ i ifae fawal @ fava &
(3)- WA B T & TP
(6)- WA & ¥l ST g1 FHaT ¢
® gXd4d
e ¥IYdd

o gYIgd
e gddEv
Correct Answer :-a33qd

25)

Question Stimulus :-

o feifaa 6 aroi=n & @ yyw g sifaw 3@ €, Ju 1 Ifa $H A uafRua Fifvm)
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(1)- 3ffafy
()- fféa iy s
(3)- A HIST 99T I8 Bt
()~ 38 U IRT F91 BT
(3)- Gfaen & gaa
(6)- AT FAUYH Wi | = T AT
® YXdWdg
e ¥IqYUd
e dgdv
® Yqddav
Correct Answer X999
26)
Question Stimulus :-
3RS AR BT T DI
o AAA-UU & WIOT I ara
o 4RI & WM d PR A
o U% 39 & I 3G & i & 3l
o oI I T
Correct Answer -3 Jfe &t
27)

Question Stimulus :-
“Supervision” FT &l gy 8-

° q'dagda;
o TIdeur
o o

o JiftrepHTT
(26)



Correct Answer :-uddaon

28)

Question Stimulus :-
o AT & o U <reg 1 w0 Piforg 2
“foerTera  gfrae o1 aren”

o foRiw
e Tdad
* IJATD
* HUGIP
Correct Answer :-wa®

29)

Question Stimulus :-
“IUAY” e & foIw qraisr &1 I Piforg|

o S yHr A R T F
e WA F ARG
S} ATYT T O P
o T A B T
Correct Answer :-3if 79107 & Ry 7 &

30)
Question Stimulus :-

“g 1R foeTg T $ee aren” - arei & Y U Weg sarsd|

(27)



Correct Answer :-3gsild

31)

Question Stimulus :-

“gAR A 399 IR § 5 gg & I off 7 geRe § -1 ared R
* HIYRU qrF
. Tyad A
o iy ar

T A BIg e

Correct Answer :-fayg g

32)

Question Stimulus :-
g IR 9/ @) Ay are | Tefere-
“ifgaelt $ Terdr g1”

o o5 Wil § ok It Bt =wrdl Bl
o it TfdaTeR gar ¢, I BT T g
o SWigd gl
o T F B
Correct Answer :-Sit ifqa=Iel gidT §, S 31 aad!

33)
Question Stimulus :-

AT TIeg T F Tad fAwed o1 997 Fiforg-
o T
°* TP
o Tl
o Bfd

(28)



Correct Answer -l

34)

Question Stimulus :-
MBI TIg 31 & TE! fapey BT T PifoTe-

° ¥f

o 3@

* Irad

o T ¥ TS T
Correct Answer -3t

35)

Question Stimulus :-

Tg ] Site g o St uer T da adel g H § Wl ¢ AR Agd, qaq Gud | T T BT D1, 7T
T & AT e Yo BT WHG 7 P BT 3MT+e A7 BT 3@ 7 TY-Ria| Sae, Ve ures 31 fiar, g te &
fire go, e ok weTE FIsT 9% Hd T

SUde T BT HAYUT Pifore-

o T Sitae df fagan § foras fore fm-v9 @ w2

* FHIUA B 7 Il | 7 HgH Al

o T faw surud 7 ferue ved Ysin

* IR a7 gEg g iR bR siusR s/ma
Correct Answer :-891 Sfig df [Aga & s fore A as 1 a1
36)

Question Stimulus :-

TS Uy & Bt~ B o §-
* AT PRI AT
* I P AT T B, AT
* TP Y QY

* TH TIY G UG gUT HAT
(29)



Correct Answer :-T& 919 &l a1y

37)

Question Stimulus :-

Arife gt 3-
o o =y 3R
* TH T Ul gt
o TP A
o T ¥ B T
Correct Answer :-T& I1d® Tl arey

38)

Question Stimulus :-
“fRufr & g9 A=t germar ft 7S Sl @7 59 WE P dwe iR ?-

o IR & F g fbe 3 @
° MW & 3ATH ool & gM
o TuSt 3R Q-
o g d # famd &1 WewT
Correct Answer :-gad @I faq® &1 GgRT

39)
Question Stimulus :-
“S[OT-SI8T" TR-g & el 3d-Ug BT Tg Pifore-
* IAHAIG-ToR
o 3IBY HiTH-ETE!
* HMR UG a-Feaardt
* T PIS Tl
Correct Answer :-3f®F HIeH-3RTIaTG

40)
(30)



Question Stimulus :-
“e[-¢FT"” RG-gTH & Tal 3rf-Ue BT aa Hifore-
o wERI-yy
o -
* WER-awW
o grf-taq
Correct Answer :-9Ri-iad

41)

Question Stimulus :-

ggari #§ Hi--A1 THN g-
¢ dYgEY

HHYRY

°* Tg
Correct Answer :-&44Rg
42)

Question Stimulus :-

A I BT IR WG T 52
* IE
* U
o fowmy
o fAdq
Correct Answer :-fdg

43)

Question Stimulus :-

(31)



“ga3 FRIER Fgw IR, TG 3F 98 URTI
fafafdr wifq a8 Ty 9, ya =4 vare aer [T
SWIT UfRT b B¢ BT IR 22

o el
e URSI
e i
* grer
Correct Answer :-9urg

44)

Question Stimulus :-

wfy 2reg 1 W6 frde gim-
o U+

o TH+Y

T+
o T+
Correct Answer :-9u+f¥

45)

Question Stimulus :-
Frafafea & @ o119 a1 W e @Y o1 761 02
o grilxr
o fIurT®
* I
* 3T
Correct Answer :-fqura®
46)

Question Stimulus :-
(32)



gga-dsT & WA 3-

* &

* FHYRY

o 3t HTG

* dgey
Correct Answer :-g<
47)
Question Stimulus :-
“gg TR UgdT dl Al U8 3J Tt A, gl

o & am

* UG I

* T a=H

° T A PR T
Correct Answer :-%H =1

48)

Question Stimulus :-

o faweul # A SRS 919y &1 99 BifoTe-
AW W §
o BRI W it ga18 W W 99 Fevar
o JIfore HAfAY &1 TP U HRUT [ §
o TS UIoft H SR g Tty
Correct Answer :-R&™ 7 39 W el 9ars 1R W 79 Foar

49)

Question Stimulus :-

“Rig=a1 fovga SR ruig, T Faifia &1 Se” § AyRr o 59 3eg B Hga?

(33)



o Rigwam
o fawga
o 3UE
o fovge ofiR arae
Correct Answer :-fawqa 3R sraE

50)

Question Stimulus :-

3it@l d 6l BT gera} o1 "ot o 8-
o 3@ B ST
o THUS g
o 3G 9 TS ST
o 3@ ort g
Correct Answer :-gHus! g1

51)

Question Stimulus :-

“HF 5 0H & AR AgHH dipiiad &1 gt ok §-
* ¥ P WY GEATYUl TIGR HRAT
* FERgwl T UST
o JfFyd® Sfafd TR He
* TRl W U fAR dig=n
Correct Answer :-SiaRexl T UgHT

52)

Question Stimulus :-

‘8" Ui fopaP STa 3ITal 82

* Td W

(34)



o 9y quf
o wE avt
o qrad
Correct Answer :-Jdgad qui

53)
Question Stimulus :-
U’ P A BT IR T §-
* 3y
* H3u
* 4™
o TS
Correct Answer :-3iisaq

54)

Question Stimulus :-

@ & AP SuEl & I T B-
* 3FMER
o IR
* U
o I wHt
Correct Answer :-3aa 9+

55)
Question Stimulus :-
wfegfl & ot 8-

T

e Ufd

(35)



°* W
o W
Correct Answer :-ufa

56)

Question Stimulus :-
‘e § v g

*q

® 3T

® m

® HAY
Correct Answer :-31q

57)
Question Stimulus :-
o d 9 59 Ieg & amar Uy 7 22
o fe@mar
® Igrdr
o HI€m
® Ydrdl
Correct Answer :-drdr

58)

Question Stimulus :-

g A Q 19 91 3 wfa aEe I3 T8 |2
® gl
o TASHI

[ ] S-IT

(36)



* 3=
Correct Answer :-3M<
59)

Question Stimulus :-

o g 9 98 Tg 7 P ord-

Correct Answer :-3fsar

60)
Question Stimulus :-
Y & Ig-gim & T erd-Ug BT T Fifore-
ST -TEa"
* Jy-Ferdr
o THfE-gamT
o Tg-IHeE
o FaTI-HA
Correct Answer :-33-3mHfa
61)

Question Stimulus :-
HRhd, SIdIg, HIfvie 4 g & & 59 wataar 82

o HIq
o Rt
® Il

o Hfor
(37)



Correct Answer :-afo1

62)
Question Stimulus :-
RIST &1 yaiaar g-

o 3@

* %

* M

* IH
Correct Answer :-3@1
63)

Question Stimulus :-
fae¥ =reg &1 T9uq ®R Naa T uike-

* T
Correct Answer :-¥Jda

64)

Question Stimulus :-
g & @ 19 91 e 7w Rfrdarde T8 &2

o HH-3FHH
* THIU-AYI
* Heg-3MT

(38)



Correct Answer :-%¢-30g

65)
Question Stimulus :-
fu & ¥ aew gie-

* TGR

* TP

o
Correct Answer :-Td
66)

Question Stimulus :-

g ¥ @ 19 91 Ut dga T8 82

o

e I
Correct Answer :-THg

67)

Question Stimulus :-

f&& uTeT Tt Sifer & Tifevor & SMYR UR SIS St 5-
. RS
o ufyd iRt
* et fd
o IETRIF
Correct Answer :-7df &

68)
(39)



Question Stimulus :-

TR fafy 1 faerT gam &-

o HTTh
Correct Answer :-sTeht

69)

Question Stimulus :-

Correct Answer :-3d-RY

70)

Question Stimulus :-

B Y Gaufae U | ISUTST H T fFar mar?
* 53 1919
o 14 AR 1949
o 14 fyawr 1939
e 11 Rrawr 1949
Correct Answer :-14 RawR 1949

Topic:- General Knowledge

1)

Question Stimulus :-
(40)



Bull baiting (Jallikattu) is a traditional game in / “g¢l s (\_rlc_vﬁﬁ?) ------------- Canra TRUR® Qe %:
e Kerala/ &3
* Andhra Pradesh / 3fi$/qe=T
e Karnataka / SHIc®
* Tamil Nadu / af¥a 918
Correct Answer :-Tamil Nadu / afia 915
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: / % Ca)

femg sk 9 RE 7T wiel # A 98 I &1 999 B3

List-I List-II
1. Jharkhand a. Kohima
2. Assam b. Bhubaneshwar
3. Odisha c. Dispur
4. Nagaland d. Ranchi
-1 gfa-11
1. SIRGES a. PIfgHT
2. 3TH b. YaiHR
3. SSM C. ﬁ'\trg'\r
4. ATTAS d. =

® 1-d, 2-c,3-b, 4-a

® 1-d, 2-c,3-a,4-b

® 1-c,2-d,3-b,4-a

® 1-d, 2-b, 3-c,4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)

Question Stimulus :-

(41)



Which is the planet nearest to the sun? /'\‘[Cf & Adcan o9 a1 ug?
®* Venus / P
* Jupiter / JfUex
® Mars / §Td
® Mercury /g4
Correct Answer :-Mercury / Y
4)
Question Stimulus :-

gow many members are there in the SAARC? / SAARC H ¥exl & |l fea-l gl
2

* 12

8
Correct Answer :-8
5)
Question Stimulus :-

In computers, Windows is a type of . ] PR T fieis U@ UPR &1 |

* Software / WA

* Hardware / TISAUR

* Both / gHI

® None of these / T8 | PIS A8l

Correct Answer :-Software / JT0cdUR

6)

Question Stimulus :-

(42)



Yeasts are classified as members of ___. / "@HR" &I & To™l & U | Tifpd
forar T 81

® Fungi/dd

® Bacteria/ \_rﬁ'CIT[{(

® Virus / dig3d

® Amoeba / 3HiaT
Correct Answer :-Fungi/ %d®
7)

Question Stimulus :-

India’s first atomic reactor was ? / HIRd DT YYH YHTY] Rugez url
* Zerlina / SIRTeHT
® Apsara/ USRI
® Kamini / SITH
® Dhruva/Yd
Correct Answer :-Apsara/ 3033
8)
Question Stimulus :-

The best coking coal is mostly obtained from : / Tad 33T HIHBRI DA BT
Ig1 | UT gl o

® Neyveli / ECLf

® Raniganj / IFIS

* Singrauli / RFRIeH

® Jharia / SIRAT
Correct Answer :-Jharia / SIRam
9)
Question Stimulus :-

(43)



Which is the capital city of Uttar Pradesh? 3R EI%TH B ISTUTT %?

® Jhansi / §IT\‘ﬁ

® Lucknow / G133

® Allahabad / SdgldlG
¢ Kanpur / STHYY

Correct Answer :-Lucknow / TG9&

10)
Question Stimulus :-

Krishna Raja Sagara dam is constructed on the river i T R PR AFR T BT
forafor faar mar 81

* Tunga / gm

o Kali/ FTat

e Kaveri / $Ta3

e Sharavati / Rl

Correct Answer :-Kaveri / $1a3

11)

Question Stimulus :-

Moti Masjid is situated in which of the following cities? / A qh}ﬂa g 7 A 5 X A fRE %?
® Indore / Ea?
® Mathura / HYRT
® Agra / 3RT
e Kochi/ CAIG|
Correct Answer :-Agra / 3T

12)

Question Stimulus :-

(44)



Pench National Park is located in which State of India? / Ud PN IAN HRAd &
fra oroa § Ry 32

® Uttar Pradesh /B?REI%‘«TI

® Madhya Pradesh / H EI%TIT
® Chhattisgarh /E?ﬂﬂ"'l?{

® Maharashtra /TI?RTg

Correct Answer :-Madhya Pradesh / T US

13)
Question Stimulus :-

Find the odd one out. / /% ¥ & faww g1
 Andaman and Nicobar Islands / 3USHIT ¥ FPlaR ELL qHe
® Gujarat / oIRTd
® Pondicherry / TifgeRt
« Chandigarh / T3NIg
Correct Answer :-Gujarat / JeIRTd

14)
Question Stimulus :-

Sri Lanka is called as 2 / fieidT HY el Sl %?
e Pearl of the West / Uf3[¥d &1 it

® Pearl of the East / QX9 BT Tt

e Pearl of the North / 3R PI 'Fh?ﬂ

e None of the above / SURTG ﬁ‘s‘ el

Correct Answer :-Pearl of the East / G¥q ®T Hidt

15)

Question Stimulus :-

(45)



Which of the following countries is called as 'Land of the Midnight Sun' / ?ﬁl’ﬁ ¥ fog e 3 “ds 3w

fhrgaTge W= weT Srar ¥
® Belgium / Sfesraw
® Germany / STHAT
® Norway /AT
® Greece /T
Correct Answer :-Norway /_d

16)

Question Stimulus :-

Laxmirani Majhi is associated with which sports? / AeHREY msﬁ fFoTa sy ﬁﬁ E_sf' %.?
* Boxing / GEFbETEIl

® Pole Vault /Eﬁlﬂ Pq
® Shooting / ‘{l!é‘l
® Archery /?ﬂiﬂ'ﬁﬁ

Correct Answer :-Archery / dIXGISit

17)
Question Stimulus :-

is the first Indian Test Captain to score a double century in Cricket outside India /

Ugd YR % W 8, el URd & d1ex fhde & SIgT de 9= I
® Rohit Sharma /ﬂ'i%?rwﬁ
e Virat Kohli / faRTe Pigen

® Cheteshwar Pujara /ﬁﬁ’!ﬂ YSIRT

® Rahul Dravid / ITgd SIdS
Correct Answer :-Virat Kohli / faRTe PIgeit

18)

Question Stimulus :-

(46)



Who won the women's doubles title at the 2015 Canada Open badminton tournament? / 2015 ®-TST 3

Jsfiies gafde &, = saa Raars = Sitar ur
® Jwala Gutta and Saina Nehwal / SdTdlT g Gﬁ? GLERL ﬁm
® Jwala Gutta and Ashwini Ponnappa / SATdT ST 3R ST Tisrwr
® PV Sindhu and Saina Nehwal / Wt &t i<y 3R W18+ Agara
® Saina Nehwal and Ashwini Ponnappa / ISl Aeard 3iiv Syt e
Correct Answer :-Jwala Gutta and Ashwini Ponnappa / SaTdl gl 3R TR e

19)

Question Stimulus :-

Who won Pro Kabaddi League 2016? / o ﬁé’f WRT 2016 fFaa Sfian
® Jaipur Pink Panthers / STOYR fUd U=t
® Patna Pirates / WW
® Telugu Titans / aﬂ'{l clgc
® Puneri Paltan / Eﬁﬁ gelcH
Correct Answer :-Patna Pirates / U&-TT JTg¥cH
20)

Question Stimulus :-

Sania Mirza ended her partnership with which tennis player in 20162 / 3%d, 2016 ¥, Tr=rar frwf 7 fe
A RS & Y vt IR ' w3 ?

® Angelique Kerber | Tafer® FaR

® Martina Hingis / wrdtar iR

* Dominika Cibulkova / SIAF®T ﬁl@ﬁﬁﬂ
® Ekaterina Makarova IQﬁﬁﬂT Hrarar

Correct Answer :-Martina Hingis / AI¢HT @R

21)

Question Stimulus :-

(47)



The terms and describe upward and downward market -
trends in financial markets respectively. / g 3R A Oy IRl &
AR 3R Fe1d &I ugfy T 9ol Fed B

e Bear market, bull market / S9% 'FlTﬁE', qd Hrfdhe
® Bear market, bird market / CLEd 'Fl'm, a:é Hifde
® Bull market, bear market / §¢1 TTfdhe, 3R Arfdhe
® Bird market, bull market / g8 'FITm', qd Aifdhe

Correct Answer :-Bull market, bear market / ci 'Fl'm, W ATfdhe

22)
Question Stimulus :-

Which among the following is NOT a Credit Rating agency in India? / % A B URT T SYR-UEET
Frefeor Taith 78 32

e ONICRA
e ICRA

e CRISIL

e SEBI

Correct Answer :-SEBI

23)
Question Stimulus :-
Who is the present CEO of Google? / Tl & qauE Age P 87
 Sundar Pichai / gz fU=mg
* Tim Cook / RH &
® Mark Zuckerberg / 1P THIST
e Jan Koum / 99 19
Correct Answer :-Sundar Pichai / = fiamg

24)

Question Stimulus :-
(48)



Which among the following States is the largest producer of tobacco in India? / frafafea o 6 9
B YR ¥ d9TP BT IS TST IAUTSH 872

® Gujarat / SRTd

¢ Andhra Pradesh / GITW

° Pondicherrqu'iﬁ":a'\ﬂ

e Madhya Pradesh / HEHUSRT
Correct Answer :-Andhra Pradesh / 3i$USsr
25)

Question Stimulus :-

Which among the following country hosted the G-7 Summit in May, 2016/f% T HHA A T8 ,2016 F
G-7 RreR w@ew smafora faar

° England/%'ﬂﬁ?;

® China / d1g-T

* Russia / IRmT

® Japan / SITUT
Correct Answer :-Japan /STl
26)

Question Stimulus :-

The theory of economic drain was propounded by / "S®HIH® g1 & RGid 596
g1 ufaurfea fosar T o7

® Madan Mohan Malaviya / Hg 'Fﬁg:[ HATAAT
® Surendranath Banerjee /?TSFIT?IW
* R.C.Dutt/3R.H. &
® Dadabhai Naoroji / GT&T HTS ISl
Correct Answer :-Dadabhai Naoroji / GIgl UYTS RIS

27)

Question Stimulus :-
(49)



Find the odd one out / faw® aram gfAT
* Gulzarilal Nanda / TeaRIaTd =gl
e V.P.Singh / 9.0 Rig
e L.K.Advani / Td.%. 3SAI

e I K. Gujral / 38.% TSRTd

Correct Answer :-L. K. Advani / T@.%. 3&aH!

28)
Question Stimulus :-
Who played the role of Mahatma Gandhi in Richard Attenborough's famous
I;ﬁc;pic ‘Gandhi’? / TS el ot U= e il & wgren mdh &t Y feam g
* Ben Kingsley / 9+ fma
® Paresh Rawal / ORI Iad
* Dino Morea / f&t dif¥an
® Om Puri / 39 T3
Correct Answer :-Ben Kingsley / 3+ fdmaa
29)
Question Stimulus :-
Who said the famous words "Arise! Awake! and stop not until the goal is
reached™? / "331, 9NN 3R T4 dF Hd IPH! o9 dP o @ed DI Uty 7 3" T Ufis Wsg
fPa s &
* Raja Ram Mohun Roy/ ITSTT I g I™
* Dayanand Saraswati / GATIG IREdal
Annie Besant / Tt 98¢
e Swami Vivekananda / Tt ﬁaib‘Fqu’

Correct Answer :-Swami Vivekananda / TaTHT ﬁﬂw

30)
(50)



Question Stimulus :-

Who was the first Indian women Lok Sabha speaker? / UHRd Cd| tl??ﬁ II'[%?IT
APIMT 3eHe P A2

Sheila Dikshit / 2 feféa

Sushma Swaraj / JUHT RIS

Meira Kumar / Iﬁﬂw

Sumitra Mahajan / JfAAT 8T

Correct Answer :-Meira Kumar / 3RT $HR

31)

Question Stimulus :-

Indian who has won the Noble Prize in Physics / HRa1 forgiq Yifa®! & Taa ReepR it 8
® Dr. Vikram Sarabhai / ST fd%H ARTHTE
® Dr.J.C.Bose / 8 9.3 919
® Dr. C.V. Raman / S ALd. =9
® None of the above / JURIGT BIS T8l
Correct Answer :-Dr. C.V. Raman / ST ALE. ==
32)

Question Stimulus :-

Which of the following States was a Protectorate of India in the past? / fada
DI ITIT TG A YRA BT TR 35T AT ?

e Delhi / faeett
® Punjab / Uolrd
® Pondicherry/ uifgadt
o Sikkim / fafewa
Correct Answer :-Sikkim / Rife®H

33)
(51)



Question Stimulus :-

The present Lok Sabhais  / TAHTT AP JHT % _
® Thirteenth / m
e Fourteenth / iﬁﬂ?ﬁ
e Sixteenth / m
e Tenth / m

Correct Answer :-Sixteenth / Tidgdl

34)

Question Stimulus :-

The idea of Fundamental Rights was adopted from / g d T fpu Hifere iRl @1 fauar
STUATT ™7 T

e South Africa / 'q’fE-I'UT 3IfphT
e China / ik

® America/ Gl'aﬁﬂﬂ

e Pakistan / CHETSIG]

Correct Answer :-America / 3MAR®T

35)
Question Stimulus :-

Who decides whether a bill is a ‘Money Bill’? / 5T f0fg 1= a1 & & fadue® ve o fAdus: 82
® The Speaker of Lok Sabha / D JHT < k230 )
® The President of India / HIRd a'TTI'ETIﬁf
® The Prime Minister / TUT-THAT
® Parliamentary Select Committee / W’cﬂ'q TaR grafd

Correct Answer :-The Speaker of Lok Sabha / @ JHT 3{eaef

36)

Question Stimulus :-
(52)



Which of these was virtually forgotten until 1818, when General Taylor, a British officer, rediscovered it? / SId

fafesr Sftre, oFRa SR, A IS [: Wit &t N, 99 1818 TP 70 I THE T U YATIT ST T UT?
® Taj Mahal / ATSTHEA
e Sanchi /Tl
* Nalanda / FITeigl
« Uttar Pradesh / 3R Yol
Correct Answer :-Sanchi/ |i<il
37)

Question Stimulus :-

Who among the following was popular as ‘Punjab Kesari’ AL H q P U T F T A
g &2

® Lala Lajpat Rai / WIT¢T dTsIdd T

e Subhas Chandra Bose / GHIY Tg a9

® Yuvaraj Singh / dRTol Rig

e Sardar Vallbhbhai Patel / ¥R GeAHHTS Ued
Correct Answer :-Lala Lajpat Rai / ¢ITd] dISTdd 1T
38)

Question Stimulus :-

Who among the following has been called the "Napoleon of India'? / Fafef@a & 9 &< “ura &1
AU ST S §2

* Samudragupta / 9Y<IW
® Harshavardhana / B'Efa‘if-'-l
® Chandragupta Maurya / T~ TRt
* Ashoka / 3T
Correct Answer :-Samudragupta / <&

39)

Question Stimulus :-
(53)



Which of these took the longest to build? / 37'11?[ ¥ fraer fAato gea e guag o galT?
® Taj Mahal/dIel Hgd
® Commonwealth Village / CILECCIRIIC)
® Hawa Mahal/gdl Hgd
® Parliament House / H9G Hd"

Correct Answer :-Taj Mahal / a1 Hgd

40)
Question Stimulus :-

India's former Test cricketer Deepak Shodhan passed away on ./ URd * tlﬁ o fpdhew atﬁ? MY BT
e P gl

® 16 May,2016 / 16 HS, 2016
® 16 June, 2016 / 16 ST, 2016
® 16 May, 2015 / 16 W%, 2015
® 16 July, 2016 / 16 SqTs, 2016
Correct Answer :-16 May, 2016 / 16 55, 2016

41)

Question Stimulus :-

Reserve Bank of India issued coins to commemorate the occasion of
Dr. B. R. Ambedkar 125 birth anniversary. / Sf &1.3R FSH F 1257 srict B
TR & Iude H§ YRAH Red 9 A > fes o™ fu §1

® Rs5/5%qU

e Rs 10/ 10 ¥=UU
e Rs 100 / 100 ¥=UU
® Rs200/200 YU
Correct Answer :-Rs 10/ 10 >=4qU

42)

Question Stimulus :-
(54)



The Vedanga consists of the / aET‘T ﬁ aﬁ Eﬁ% %l
® Kalp, Shiksha, Nirukta, Vyakaran, Chhanda, Jyotish / &ed, R1&fT, Feam, sate=ul, 9, sifay
® Kalp, Shiksha, Brahman, Vyakaran, Chhanda, Jyotish / &4, QT&‘IT HTGI0T, ATHIUT, Be, Sifay
® Kalp, Shiksha, Nirukta, Aranyak, Chhanda, Jyotish / ¢4, ﬁT&‘IT, ﬁw, SRUIPH, B, Saifay
® Kalp, Upanishad, Nirukta, Vyakaran, Chhanda / U, 3Ufaug, e, sareur, ©¢

Correct Answer :-Kalp, Shiksha, Nirukta, Vyakaran, Chhanda, Jyotish / &4, fR1&iT, Ao, e, g, saifaw

43)
Question Stimulus :-

Which among the following was the winner of IIFA Award 2016 for Best Film / g & & P ot 3Py
e IIFA &R 2016 | faorar H

* Bajirao Mastani / STSIRTG HE&AT
e Tanu Weds Manu Returns / aﬂaﬁﬂﬂﬁ‘ﬁ
® Bajrangi Bhaijaan / EERIRTIEE E|
e Piku /Wi
Correct Answer :-Bajrangi Bhaijaan / S931 WSS

44)

Question Stimulus :-

Who is the first Indian woman to win an Olympic medal in Wrestling? / ?Q?ﬁ ¥ SNefie Asd Sia+ arat ugar
YR Afea I &2

® Harwant Kaur / g3dd DI
® Sakshi Malik / 91eft Afere
® Lalita Babar / @ferdT 9TeR

e Karnam Malleshwari / BUTH Hedas!

Correct Answer :-Sakshi Malik / g1eft Afcie

45)

Question Stimulus :-

(55)



‘Who was appointed the Chief BREXIT Negotiator by the European Union? / @ﬁ'ﬂq T{ﬁTF-r GRT 48T sfRTe
(BREXIT) ari®R f&d fge fear e

® Tony Blair / T R

® Angela Merkel / Eﬁmﬁaﬁr
® Boris Johnson / ST S~

® Michel Barnier / ATS®d SR

Correct Answer :-Michel Barnier / ATS®d SfUR

46)
Question Stimulus :-

What is the theme for 2016 International Mother Earth Day? / 3RISIT AT gt faaw 2016 & forg fawa =1 82
® Unite for tomorrow / &d & ﬁl’l'{ ghyc ﬁ:lT
® Earth and its ecosystems /q%ﬁ Y ISt uTRfRUf®t yomedt
® Trees for the Earth /q%ﬂ ® ﬁm q&
® All of the above / SURIad I

Correct Answer :-Trees for the Earth / gt & foQ gaf

47)
Question Stimulus :-

On which day is Kargil Vijay Diwas celebrated? / & f&7 ®RRa fasra fegw w=mam s 82
e Jan 26"/ TG 26
* June 26" /S 26
« July 26 / J@TS 26
« Sept 26" / Ryawr 26
Correct Answer :-July 26" / J@T5 26
48)

Question Stimulus :-

(56)



numbers of districts are there in Madhya Pradesh. / H¢d ';I'a'QT A forel @) de=mn %I
® 48
e 51
® 52
® 55
Correct Answer :-51
49)

Question Stimulus :-

‘Labour Day’ is celebrated on ./ HYIgR ﬁﬂﬂ' ------------ CAR:EID RS IGI %?
e 30t April /30 3M&
o 15tMay/1WS
o 15 May/15¥38
o 15 June/1S[H
Correct Answer :-1% May / 1 9§
50)

Question Stimulus :-

Who was accompanied by Dorji Lhatoo and Ang Dorji on a historical conquest? / vferire shia w® Sivsil dlg

IR 3T SReH & 1Y DI AU1?
® Maharastra / 'FI?'RTg
® Andhra Pradesh / 3<% ?I%{QT
® Kerala/ C |
® Karnataka / FAlCP

Correct Answer :-Maharastra / HERTY

51)
Question Stimulus :-

Which of the following number is divisible by 9? / 719 & ¥ S TI T=T 9 A fauTsy 82
(57)



® 7899
* 1899
® 2089
* 3633
Correct Answer :-1899

52)

Question Stimulus :-

3 el

5
5p2q® r3/ 5p2q° r3¥ 3 F U falRkey

Write the coefficient of r3 in

W

2

Correct Answer :- 5p2q°

53)
Question Stimulus :-

The value of this polynomial (-8m 2+ 4m -8) + (4m 2-m-7) when m =9 is
/SEm=9 A(-8mM2+4m-8) + (4m2-m-7) SEUC FTHM &

e 312
* 312
* 321
e 1321

Correct Answer :--312

54)

Question Stimulus :-
(58)



The mean weight of 6 lemons is 32 gm. One of the lemons is spoiled and was removed. The mean was reduced by
2. Find the weight of the lemon removed? / 6 g3 ®T ATT ToI 32 W g1 TP g TR & 74T 3R T
faar T wrem 2 A we wn e W™ g 1 awq Aeifer?

® 30gm / 30 UH
® 36gm / 36 UH
® 38.5gm / 38.5 U
* 42gm /42 TH
Correct Answer :-42gm / 42 9H
55)
Question Stimulus :-
What is the supplement of 56° / 56 © @1 ¥qR® =1 @
o 340
e 56
o 3040
e 124°
Correct Answer :-124°
56)
Question Stimulus :-

One of the equal angles of an isosceles triangle is 809 Find its third angle. /

TUfgaTg AYS & TR vl 7 A TF H1o1 800 71 THST TRIRT 10T J1d SIRA |
e 800
o 20°
e 60
o 30°
Correct Answer :-20"

57)

Question Stimulus :-
(59)



A parallelogram is represented by P (2, 6), Q (14, 6), R (20, 8) and S (8, 8). If the origin
is shifted to the pomt of intersection of its diagonals, then the coordinates of P is

/ TH G ag4s &1 P (2, 6), Q (14, 6), R (20, 8) 3R S (8, 8) A gxifar a1 31 ufe
wﬁgﬁmﬁmﬁ%uﬁﬁzﬂﬁgwﬁwﬁamﬁmm% @t P& Fdzne &

¥y

H1

* (-9%-1

® (-2,-6)

* O

* (13,13)
Correct Answer :=(-9,-1)
58)

Question Stimulus :-

Area of a rectangular window is 420 sq ft. One half of the window has 1cm?2 grill, while
the other half has 3 cm?grill. Then the ratio of the number of grills in the window is

/ TP AAPR RSP BT &I%d 420 T Bic 21 [Pl & v o {W § 13H
%ﬁaﬂawﬁ% Wmmﬁ%ﬁﬁ3ﬁﬁﬁW%lﬁmﬁamﬁmmm

Correct Answer :-3:1

59)
Question Stimulus :-

If the perimeter of a room is 44 meter and the height of the walls is 12 feet, the area of the four walls is equal to

. / gfe IR o1 uRHTT 44 H 7 3R faar) &1 a8 12 Wie §, IR Slar} &1
L] F IR gl

(60)



2112sq:m / 2112 i

56sq: m / 56 it ot
® 528sq:m / 528 Tt
® 264sq:m / 264 aif ot

Correct Answer :-528sq:m / 528 aif

60)
Question Stimulus :-

A fruit seller sells a dozen bananas at the rate of Rs.72/ dozen. If his loss is 4% what must have been his cost price? /

wgﬁmwﬁﬁﬁ 72%/ &oiF & & IR JId1 21 Tfe IUP! 81 4% € df TS| ANTd B 1Hd
Goll ?

® Rs.75/ 75 303
® Rs.76 / 76 U

e Rs. 104 / 104 30

e« Rs. 68 / 68 3N

Correct Answer :-Rs. 75 / 75 30

61)
Question Stimulus :-

SONAR makes use of / IFR ST UGN FHdl §

« Ultrasonic waves / WRTHST a3

 Light waves / BT aA

e Xrays /U ool

e Microwaves / g&H a3l
Correct Answer :-Ultrasonic waves / URTHY T
62)

Question Stimulus :-

(61)



The electrical resistivity of the material of a conductor depends on / dIci P IRl ot ﬁg!rcr yfoRierear LIRS
R ot 8

its length / 3P TR

* its area of cross section / 3T SHUR] hIC IR

* its surface area / 39% USIT &0wd
® the nature of its material / ITHT AT B Wﬁf K3

Correct Answer :-the nature of its material / SH®! TN Ht THfd W

63)
Question Stimulus :-

In the figure, the ray PO incident on mirror AB gets reflected along 0OQ. When
the mirror is tilted by 10° to the position A'B’, the ray PO gets reflected along
0Q’. The angle 6 is / 3THfd H, U AB WR 3Tufad fHI0r PO, 0Q & T1Y Wrafdd gl 8l
ma&%1o°®@;ﬁm's'wwm%, dl f3ur PO, 0Q’ & TTY WRrafdd & wrel 1
EE-IUI o

e 200
Correct Answer :-20°
64)

Question Stimulus :-

Magnesium hydroxide, obtained when Magnesium oxide is dissolved in water is / AR 3ﬁ%|=&r|3—s' &

T § ge TR UTW g9 ATHIRRW grssiduiss §

® Abase/Td &R
(62)



® Anacid /Udh 3T
® Anindicator / T JdPH
e Neutral / G_c‘g’l'\‘ﬂq

Correct Answer :-Abase / T® &R

65)
Question Stimulus :-

The chemical name of quick lime (Chuna) is / @Rd g )TAT (HTINANAS 919 &
® Calcium Hydroxide /Wﬂ'ﬂ Fﬁg‘mﬁg
e Calcium Oxide/m Gﬁm
® Calcium Carbonate / SR BT
® Calcium Sulphate / HicRraq Iebe
Correct Answer :-Calcium 0xide/a?%tl'€l'ﬁ &ﬁ'ﬂ'\‘ITE'E‘I
66)

Question Stimulus :-

A strong acid known as the “King of Chemicals” is / dg Udd 3l S TR BT IS BTl %

® Hydrochloric acid /ﬂ%@ﬂﬂﬁﬁﬂ? ST
* Sulphuric acid / TERIR® 3FT

* Nitric acid / Tigfe® 3

® Phosphoric acid | BIEpIRG 3

Correct Answer :-Sulphuric acid / SeR[R® 3T

67)
Question Stimulus :-

How many strands is a normal DNA made of? / dTHT 3w foaq H‘Qjﬁ T 91 BT 82
e 1
° 2

(63)



3

e 4
Correct Answer :-2
68)

Question Stimulus :-

Which structure stores food in a dicot seed? ®IH Hl/ T g 99 & HIH BT HSR Fdl 22

e Cotyledons / ®ifceiisd

* Endosperm / YUIUIY
* Radicle / TdAIHR
® Plumule /Wi$R

Correct Answer :-Cotyledons / ®ifeeied

69)
Question Stimulus :-

How many molecules of ATP can be produced in the cytoplasm by t_he break down of 10
molecules of glucose? / HIRGIgT § TSIl & - 3AU], 7P I & 10 U3 & AU gRT IA g1
Iod 8?2

30

* 40

e 10

e 20
Correct Answer :-20
70)

Question Stimulus :-

Which is the Metabolic reaction involving Oxygen and Glucose? / 3_"“3[ T w it Iutge ufafear % foras
Sifefie iR @i siafifed 22

® Photosynthesis / UDIRT W

® Krebs Cycle /W qsh
(64)



® Gycolysis /m

® Respiration / ¥3d4
Correct Answer :-Respiration / 499
71)

Question Stimulus :-

An ornament contains pure gold and copper in the ratio 1:9. What is the percentage of pure
gold in the ornament? / T& 3TYYUT ¥ Y[ TIFT TS diaT 1:9 & U & 81 STYTUT § Y5 T BT
wfo=Ta FaT 32

* 11.1%

e 51.1%

e 33.1%

* 90.1%
Correct Answer :-11.1%
72)
Question Stimulus :-

The average salary of all employees in a factory is Rs 5000. The average salary of 12
engineers is Rs 7500 and the average of the rest is Rs 3500. What is the total number of

employees in the factory? / T® $REM # G+ HH=RYl $1 3N9d 3 5000 FUT g1 12 SifAER] $1
&mﬁgnoow%ﬁaﬁaﬁﬁﬁsﬁwm 6000 TUT 3| PRIUM H HHANG! Bt Pd I=AT
* 30
* 3
* 35
° 38
Correct Answer :-32
73)

Question Stimulus :-

The ratio of the ages of Suresh and Ramesh is 4 : <ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>